Find more at

/\Ehapter 2: Equations and Inequalities

R, Solve each inequality.

1)
2)
3}
4)
5)
6)
7)
8)

9)

10) 6 + 2x > 28 -

11)8+3x =35 -
12) 4+ 6x <34 >

13)3'}'296253—)

14)7 —6x> 56+ x -

2x—-6<4-
24+3x217»__
9+3x > 36 -
2x—-6<18->
3x—4<23
7x—5 %51~

4x -9 <27 >

—————

6x—11 <13 -

5 —-7<33->

15) 9 + 4x = 39 + 2x -

18#\;

Solving Compound Inequalities

16)3+5x>43 > __
17)4-7x <60 - ______

18) 11 —4x>55-»_

19) 12+x248—2x—+____
20) 10-10x<-20-___
21})5—-9%% > —40-__
22)8—-7x=236-___
23)6+10x<69+3x~e____
24)5+4x <26~3x>____
25) 10+ 11x <59+ 4x —»
26)3+9x>48—-6x>__
27) 8 —3x 2 35 - 6x —

28)6x— 12256 +4x »_____
29)22-8x<67—-9x—>___

30) 9% + 11 > 67 + 2x —
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